@ f{ TT %E Beregn prosentandel av tall
StudentName: ExamDate: _ ExamScore:
37 x70% = 58 x 70% =

50 x 50% = 84 x 20% =

96 x 50% = 34 x 80% =

60 x 80% = 40 x 80% =

83 x 60% = 57 x 70% =

6 %< 80% = 97 x 20% =

81 x 80% = 61 x 30% =

47 x 30% = 4 x 70% =

12 x20% = 82 x 90%, =

71 x40% = 11 x 40% =
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Beregn prosentandel av tall

StudentName:

37 x70% = 25.9

50 x 50% = 25

96 %< 50% = 48

60 x 80% = 48

83 x 60% = 49.8

6 x 80% = 4.8

81 x 80% = 64.8

47 x 30% = 14.1

12 x20% =2.4

71 x 40% = 28.4

ExamDate: ExamScore:

58 x 70% = 40.6

84 x20% = 16.8

34 x 80% = 27.2

40 x 80% = 32

57 x70% = 39.9

97 x20% = 19.4

61 x30% = 18.3

4 x70% = 2.8

82 x90% = 73.8

11 x40% = 4.4
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